
Вариант № 2 - ОТВЕТЫ 

1: 12  

2: 2, 3  

3: 5  

4: 3 

5: 3  

6: 1  

7: БИТА  

8: 2 

9: 35  

10: 37  

11: 10  

12: 8 

13: 3  

14: 21121  

15: 16  

16: 4 

17: ЖГДАБВЕ  

18: ГВБА 

19: 1) 73 

             2) 1,58 

20:  

нц пока справа свободно 

  вправо 

кц 

вверх 

вправо 

нц пока снизу свободно 

  вниз 

  закрасить 



кц 

21:  

var a, s: integer; 

begin 

  s:= 0; 

  readln(a); 

  while a<>0 do begin 

    if (a mod 6 = 0) and (a mod 10 = 6) then 

      s := s + a; 

    readln(a); 

  end; 

  writeln(s) 

end. 

 


